Gnome Club


1. Relay System

1.1 Introduction

The system is based on a Precision style 1( opening with 16+pts. 1♦ is normally 4+♦ and 1♥/( normally 5+, though can occasionally be 1 card less. All balanced hands in the 12-15 range open 1NT, therefore 1♦ is always “unbalanced” (if partner is an unpassed hand). 1NT is mandatory with the following shapes: 4333, 4432, 5332 with a minor, and 4225 or 2425. It is optional with 5332 and a major, and 2245 or 2254.

A summary of the opening bids (opposite and unpassed partner) is as follows:

1♣
16+ Any shape OR equivalent playing strength (Rule of 25)

1♦
10-15, 3+♦, “unbalanced hand”.

1♥
10-15, 5+♥.

1♠
10-15, 5+♠.

1NT
12+-15 balanced or semi-balanced.

2♣
10-15, 6+♣, may have a 4 card side suit.

2♦
10-15, 3-suited, short ♦.

2♥/2♠
5-9, weak. 6 card suit. (occasionally 7222)

2NT
55 minors, weak OR game forcing.

If partner is a passed hand, then 1♦ can be made on some balanced hands (more for lead directing purposes) and 1♥ and 1♠ can be made with 4 card suits.  Note however that the only change in structure opposite a passed hand is that any GF sequences are now invitational and any strong jump shifts are now fit jumps.

In relay bidding, a minimum bid by the controlling hand asks and is called a relay, shown as ®. The exceptions are 3NT, 6NT and any 7-bid which are natural (so if the bidding reaches 3(, 4( is ®). So if the controlling hand does not ® the bidding normally ends.

Positive relays occur after either a 1( opening and a response of 1♥ or higher.  The requirements after 1( are 9+pts and 12+pts after the others (though can be reduced to 10 after a major if the responses to the relay can be handled). All positive hands also have 2+ controls.

Negative relays can occur after 1(-1♦ and opener relays with 1♥ showing 19+. Responder then bids 1( as a double negative 0-5 (or 6+ without 1 control). Other bids show 6-8 and are 2 steps higher than a normal positive response eg.1(-1♦-1♥-1NT shows ♥. Double negative relays occur after responder shows less than 6pts and opener then bids 2( artificial game force (like Acol opening).

In responding to relays there are 5 stages: general structure; short suits; exact pattern; controls; location of high cards (scanning). The options for the general structure are: short 2 suiter (one suit has exactly 4 cards); long 2 suiter (at least 5/5); 1 suiter; 3 suiter; or balanced. In the 2nd stage we show short suits numerically with the lowest number first. Thus 13 (high shortage) comes before 22 (equal shortage) and 31 (low shortage) comes last. In the 3rd stage the exact shape is shown starting with the commonest distribution. In the 4th stage controls are shown starting with 1 after a negative relay, 2 after a positive relay, and 4 if shown max or 1( opener is describing. Also note that singleton kings do not count as controls.  “Run-ons” can occur if you reach the last step of the stage; they give the same message as the last step but go immediately to the steps of the next stage. However only run-on to controls with a maximum ie.1st run-on is 4 controls and 13/14+pts, 2nd run-on shows 5 controls, etc; unless you hold a 7card suit or 11 cards in 2 suits when you ignore range and only show controls.

We do not provide for freakish distributions such as 12 cards in 2 suits and 8 card suits are treated as 7. A jump to 4NT or 5NT during a relay sequence is ace asking: 0,1,2,3,4 (1st step=1 if 1( opener)

Once the relayer has stopped relaying he suggests the final denomination. But do remember to pause at this stage and consider continuing - have you got a hand that is better than the hand you have described e.g. hidden singleton honours, points in your suits,  or good intermediates? Is partner slamming?

Summary of responses to 1(:

1♦
0-8pts or 9+ with fewer than 2 controls - others all show a positive:-

1♥
4+♥
1(
4+(, <4♥
1NT
4333 or 4432

2(
5+(, no major

2♦
5+♦, 1 suiter

2♥
3 suiter, short major

2(
5/5 minors

2NT
All bids 2NT and higher show 4( and longer ♦ (See Sect 1.4.1 re “Short 2 suiters”)

Control Asks & Run-Ons

Responding to Step 1 Control Ask: (a number by itself indicates no. of controls) (PH=passed hand)

	Position
	Hand Type
	Step 1
	Step 2
	Step 3
	Step 4

	Positive to 1(
	9+pts
	2
	3
	4
	5

	Semi-Pos to 1(
	6-8pts
	1
	2
	3
	4


Responding to Step 2 Weak Relay or Run-ons
Notes:
-  Relays finish after a Step1 response unless the relayer’s next bid is below game.

	Position
	Hand Type
	Step 1
	Step 2
	Step 3
	Step 4

	Positive to 1(
	9+pts
	Min
	13+pts, 4
	13+pts, 5
	13+pts, 6

	PH Pos to 1(
Semi-Pos to 1♣
	9-12pts, bal

9-10pts, unbal

6-8pts
	Min
	Max, 2
	Max, 3
	Max, 4


Extra Run-On types:
	Position
	Hand Type
	Step 0
	Step 1
	Step 2
	Step 3

	Positive to 1♣
	65 shape or 7 card suit, 9+pts
	2
	3
	4
	5

	Semi-Pos to 1(
	65 shape or 7 card suit
	1
	2
	3
	4


Scanning

This is the 5th stage in responding to relays i.e. used after the exact pattern and controls are known and describes where the high honours are located. Looking at suits in turn, starting with the longest or higher ranking with equal length, we respond:

1 step - either weakness or AKQ (or the maximum possible given earlier bidding - see below)

2 steps - useful honour in first suit, either weakness or AKQ in second suit

3 steps - useful honour in first and second suits, either weakness or AKQ in 3rd suit, etc.

( AQxx

♥ Kxxxx

♦ Qxx

( x

Here the bidding has reached 3NT and you have shown positive values, 4531 and 3 controls. After 4(® bid 4NT to show a top card in ♥, ( and ♦, and denying a second top card in ♥. Singletons are neglected and doubletons are scanned just once. In some situations we cannot distinguish between doubletons and trebletons 



e.g. after a balanced 2( opener or a 7321 shape - when scanning we treat those 



suits as doubletons.
( Qxxxx

♥ AKQxx

♦ xx

( x

Here the bidding has reached 4( and you have shown positive values, 5521 and 3 controls. The scan continues:

 4♦®
 4♥ 
  - no (AorK, or (AKQ




4(®
4NT
 - no ♥A,KorQ or ♥AKQ




5(®
5♦
 - no ♦ honour




5♥®
5NT
 - (Q, (by implication ♥AKQ) and no ♥J

The scan through the suits continues until the controlling hand breaks the relay or the bidding reaches 6NT. In this example only 1 more scan is possible i.e. to ask about the (J. After 6(® responder bids 6♦ to deny it. Now the next step up would also be to play i.e. 6♥ as there are no more scans to make; we go down to Jacks after higher honours are defined, but not down to 10s.

The Queen Rule

This example also highlights the one tricky area: when does a queen become a useful honour? To answer this count the number of aces and kings you have (excluding singleton kings). If you have one control card (not control) count the queen in all suits at once; if you have two control cards, start to count the queen in your 2nd suit (i.e. in 1st suit show only A or K); with 3 control cards start to count the queen in the 3rd suit; with 4 the 4th suit; and with 5+ control cards show queen at beginning of second round of scanning. Note in the last example the (Q did not count on the first scan.

The first step in the scan shows nothing or very strong. Normally this means AKQ, exceptions are:


* If shown a doubleton:
AK, AQ or KQ


* If shown 1 control:

KQJ


* If shown 2 controls:

AQJ

If relayer signs off after we have made one of these 2-way bids it is important to seriously consider moving on. It will depend on the particular circumstances - but if we do decide to move on, we bid suits where we hold extra values.

If the relayer jumps to 5maj it asks partner to bid on with at least 2 of the top 3 trump honours. The same meaning applies to 5minor if the relayer makes a jump there after he asks for controls but before he starts scanning. The response to the control-ask has to be at least 4 (unless the relayer has shown 19+ when the response has to be at least 2) i.e. sufficient to make sure the relayer is not trying to sign off. A typical hand for the relayer to hold for this manoeuvre will be poor trumps with a void outside.

Showing Pattern

1.1.1 Short 2 Suiters

These are hands in which the shorter suit has exactly 4 cards. Without intervention and with unequal shortage, we eventually must bid one of the following:


3♦
5431


3♥
6421


3(
6430


3NT
7420 (as this is the last step, a “run-on” is available to controls, so 3NT=2)


4(
7420 (3 controls, straight control run-on given 7 card suit), and so on...

Note that the most common shape comes first. With equal shortage ie.5422 or 7411, we must bid 3(. If the rarer 7411 we then follow 3( with 4( on our next turn, so 4( is excluded from the normal control ask when 5422.

In many cases we simply show our 2 suits before reaching the pattern bid. Suppose the describer is 5341. Whether he opens with 1( or responds 1( to 1(, he next bids 2♦ then 3♦(low shortage). So having bid the 2 suits we bid:


2NT
High shortage


3(
Equal shortage


3♦up
Low shortage, direct to pattern

Here are two rules for bidding the two suits:

*  After a 1( opening bid the cheapest suit first, regardless of length. So 1( denies 4♥, 2( denies a major, and 2♦ is always a 1 suiter.

*  REVERSER - a bid of 2♥ after showing 1 or 2 suits is known as a reverser which means the higher ranking suit is the one with exactly 4 cards. If only 1 suit has been shown then ♦ is always the 2nd suit.

So, in the first example above the bidding would be 1(-1♥-1(®-1NT (showing ()-2(®-2♥(reverser)- 2(®-3♦(4531).

Another example:

1(-1(-1NT®-2♥

4( and longer ♦.

After 1( holding 4( and longer ♦ bid 2NT or higher directly, using the principles described above ie.2NT=( shortage, 3(=equal, 3♦=3154, 3♥=2164, etc.

Summary - with normal distribution (lower suit of 4 cards) and low shortage, show 2 suits and show pattern. With a reverser (higher suit of 4 cards) put in a 2♥ bid en-route. With high shortage put in a 2NT bid en route to the pattern. With equal shortage bid 3(.

Long 2 Suiters

These are hands with at least 55 in two suits. Show 2 suits as for short 2 suiters then bid 2(. Then bid:


3(
High shortage

(Mnemonic - HEL = high, equal, low)


3♦
Equal shortage (5611 or 6511, then separate numerically ie. 56 before 65 with run-on)


3♥up
Low shortage - go direct to pattern......see below

To show pattern, bid:


3♥
5521


3(
5530


3NT
5620


4(
6520 (run on to controls; note this is the only common pattern that goes past 3NT)

( -

AKQJ109

♥ AJ9xx
108xxx

♦ AK10x
xx

(AQJ10
-

1(
1♥
1(
1NT
- (
2(
2(
- 55

2NT
4♦
- 6520 with 3 controls

4♥
4(
- Either no (A or K, or (AKQ

6♥

- Knows it is (AKQ and that the ♥K is missing.

Another example: note do not look at jacks until your partner knows about the higher honours.....

( KJ10xx
AQ

♥ AQxxxx
K10

♦ x

AK10xx

( x

AJxx


1♣

1♥
1(® 1NT
2(
2(
2NT  3♦
3♥ 
- knows 5611 or 6511

3(
4(     4♥
4(
- 5611 and 3 controls i.e.(K,♥A

5♥
7♥


- ♥Q, could now find out about Js but..

1.1.2 1 Suiters

These are hands with one 5+ card suit. (NB. this section excludes opener with minor 5332 because we must open 1NT with this shape). The procedure is to bid the suit you hold and then bid:


2(
High shortage (includes 223 and 232)


2NT
Middle shortage


3(
Equal shortage (322 or 222 specifically)


3♦up
Low shortage - run-on direct to pattern

Then show pattern as follows:


3♦
5332


3♥
6331


3(
7+card suit with singleton


3NT
7+card suit with void and 2 controls (run-on with more)

You may have noticed that the tricky bit is the 6322 shape. 3( direct is either 6322 i.e. with 3 cards in the highest ranking suit or 7222. Then separate after the 3♦ relay based on commonest distribution ie.3♥=6322, 3(=7222 with 2c, 3NT=7222 with 3c, etc. With 6223 or 6232, first bid 2( to show high shortage, then 3(, then separate numerically ie.3♥=6223, 3(=6232 with min, 3NT=max 4c, etc.

1.1.3 Balanced Hands

All positive 4333 and 4432 shapes bid 1NT ie.9+pts and 2+ controls. We don’t relay out balanced hands, but rather use our NT structure.  The difference is that since we are in a GF, all invitational bids now become slam tries.  Thus a jump to game, shows a minimum for the bidding.

1.1.4 3 Suiters

This tends to be the area that demands most on the memory, as to describe these hands employs some auctions that are otherwise meaningless. The treatments vary with the opening bid, so in this section we deal only with the responses to 1(. See Section 1.7 for the other opening bids.

With both majors (5440 or 4441) bid 1♥ then 1NT to show (, then 2♦.
With both minors bid 2♥ directly over 1(.

In each case the next ® asks for shortage: high short, then low short with run on to pattern. The pattern goes 4441 (because commoner), 445, 454, 544 with run on to min/max & controls.

1.2 After 1(-1♦
If the 1( bidder has extra strength (normally 19+pts but can be less with distribution and wishing to force to game opposite 6-8pts) he can relay with 1( after a 1♦ negative. If responder is very weak (0-5pts) he makes a 2nd negative response of 1(. With 6-8pts he is semi-positive and bids two steps more than he would have done with a positive i.e. he is on a TWO-UP track. If opener is minimum for 1( he bids something other than 1♥ after 1♦, and now transfers apply in many situations - see section 1.5.3.

1.2.1 Semi-Positive Track

The two-up track begins at 1NT to show 4+♥ and goes up to 4♦ to show 2074 shape with run-on to controls eg.2♦ now shows 4333 or 4432 (Note: 2NT after 2♦ can often be bid to ensure the strong hand is declarer - 3( is now Stayman). Subsequent auctions continue to be two-up. It is normally best to think what would have happened in a normal auction and then add two steps.  However not everything works to this principle so following points need to be remembered:

* Controls start at 1 (not singleton king), not 2 as in positive auctions

* Run-on to controls with max (7-8)+2c or 7card suit or >65 shape (never with balanced hand past 3NT)

* When scanning for high cards queens count immediately

* 7411 hands still bid 4( following equal shortage (or 5( if 4( is unavailable)

*
With 4432 shape the actual doubleton is still bid to show pattern, except that 3NT shows a (              doubleton. 

* A direct or indirect bid of 3( show the 4333 types

1.2.2 Double Negative - 1 level up

After a second negative, 1(-1♦-1♥-1(, opener bids as follows:


1NT

19-21, continuations as 1NT opener - see Section 1.7.3.1

2(

Artificial game force, see continuation below


2♦

Natural, nf, 19-poor 22, transfers now apply - see section 1.5.3

2♥/(/3(
Natural, nf, 19-22, changes of suit now nat but nf, invitational


2NT

22-23, normal transfers etc now apply 


3♦/♥/(

Nat, nf, good suits, only need a little opposite to make game


3NT

To Play

Note these bids up to 3( apply even after intervention - as long as responder has denied 6+pts.

1(-1♦-1♥-1(-2(- (THE GAME FORCE)

Here we play transfer oriented bids (mostly to save space as all the suits have been bid).

2♦
5+♥, then bids are transfers (except 2♠).  Thus, … 2♣ - 2♦ - 2♥ - 2N = 5♥, 4+♣, etc

2♥
5+♠, then bids are transfers. In both of these cases (2♦ and 2♥) a jump to 3♠ after shows a balanced hand, so that the strong hand can play 3N.

2(
Balanced.  Opener then bids naturally and responder can bid 4 card suits up the line.

2NT
At least 5/4 minors (3((-3♦=5+♦[3♥( asks 5,6,or7],3♥=5+(, 3(=55, 3NT+ do not exist)

3(/♦
5+, may have 4 card side suit.  Opener bids suits up the line.

3♥/(
Splinters, 4441 or 5440, bid shortage suit

If they intervene over 2(:

X
XX=0-3pts with 4+( (no more relays, natural bidding), all other bids ignore the X

2♦
X=0-3pts 4+♦ (no more relays); P=would have bid 2♦-continue as normal; others ignore 2♦
2♥
X=would have bid 2♥; P=would have bid 2♦ (X now is ®); others as normal

2(+
X=length or values in their suit with nothing else to say; other bids are natural ie.no relays
1.2.3 16-18pts after 1(-1♦

1(

4+(, unbalanced, now as if we opened 1♠ (and partner is a PH)


1NT

16-18, responses as 1NT opening


2(/♦

Nat, nf, transfers now apply

2♥

5+♥, no transfers, new suits F1, 2NT~7-8pts, jump suit=max & splinter


2(

6(, no transfers, new suits F1, 2NT=~7pts with (x or xx, jump suit=splinter


2NT

At least 5/5 in odd suits, good intermediates in the 2 suits



-3(
Any strength shape enquiry, opener bids lowest suit over which all bids are nf



-3any
Good 6 card suits, F1 (3NT shows ( and is nf)



-4(
Invitational to 5( opposite ♥(, opener bids 4♦ with (♦

3suit

At least 5/5 in suit plus suit above, good intermediates, nf; new suits now F1

After 1( rebid:


1NT

NAT, NF, semi-pos, <3♠


2(

Semi-pos, 3♠ or positive <2 controls


2♦

Transfer with 5+♥

2♥

Good raise, 4+♠, 6+ hcp, short and long suit tries apply


2(

Bad raise


2NT

Mini-splinter (typically low on hcp + shortage)


3(/♦/♥

Fit jump.


3(

4+(, PRE


3NT

8+pts, 2(, balanced, to play

4(/♦/♥

Double jump: very max, splinter.

1.3 Weak Relays

1.3.1 Relay Asker’s Options After Shape is Known

If the 1( bidder is minimum he will often rest in game after he knows the pattern opposite. A normal relay for controls may take the auction too high. Then we use the “Weak Relay” which is typically one step above after shape is known.  The exception to this is if relay responder’s shape is already at 3♠ or higher.  Then 4♣ is the “strong relay” and 4♦ is the “weak relay”. It announces that the relay bidder is minimum or close to minimum and is prepared to give up on a slam. Partner usually bids one step to say that he also lacks slam interest, and the relay bidder picks a game contract. 

For a positive response to a weak relay see Sect 1.2. Scanning can continue as normal. If the response is below 4♥, relay asker can still keycard (see below). Bidding 3NT instead of a weak relay indicates a preference to play there.

The strong relay occurs when opener simply wants to know controls and scan.  This is typically two steps above after shape is known.  The exception is when shape is at 3♠ or higher, when the next suit (i.e. not 3NT) is the control ask.  After controls are given, any non skip bid starts denial cuebidding.

If there are other steps available below game and the two steps needed for the weak and strong relays, we use these for roman keycarding.  The cheapest available step is RKCB for responder’s first suit (where we decide by longest-highest).  Other available steps are then for responder’s 2nd, 3rd, 4th suit etc.  Typically there will be 1 or 2 keycard steps available.  After a weak relay, keycarding is also sometimes available and will indicate a minimum slam try.  A couple quick examples might help.  Suppose that relay responder has a 3=4=1=5 shape and has bid 3♦ as his final shape resolution.  Then 3♥ is the weak relay, 3♠ is the strong relay, 3NT is to play, 4♣ is RKCB for ♣, 4♦ is RKCB for ♥, and 4♥+ is to play.  Another example, suppose responder is 2=2=6=3 and has bid 3♥ as his final shape resolution.  Then 3♠ is the weak relay, 3NT is to play, 4♣ is the strong relay, 4♦ is RKCB for ♦, and 4♥+ is to play.  Finally, suppose that responder is 7=2=1=3 and has bid 3♠ as his final shape resolution.  Then 3NT is to play, 4♣ is the strong relay, 4♦ is the weak relay, and 4♥+ is to play.  Thus in the last example, we don’t have any room to keycard.

It is also possible to stay out of game when it looks as though a misfit is possible eg. 1(-1(-1(-2(-3( with AKQxxx  AJxx  Axx  -  opposite  x  xxx  xx  AKxxxxx.

1.3.2 Breaking Relays 

If at any point relay asker breaks the relay below game, bidding reverts to natural.  This can be made for any number of reasons, but often when relay asker might be worried about a misfit and/or stops for NT.  For example with AKx x AKQxxx xx, if it goes 1♣ - 1♥ - ? responder may wish to bid 2♦ now so that if NT is reached, it won’t be a silly contract.  (Imagine responder showing a 3=5=2=3 hand)  

1.3.3 End Signal and Reevaluation

Unlike many other relay systems, we do NOT use a 4♦ end signal.  Instead after shape is known, a jump to game is the weakest action by relay asker.  Therefore, a weak relay followed by a game bid shows a mild slam try (saying that had I heard a different response, I might have been interested in slam).  Thus relay responder is allowed to re-evaluate given that information.  If relay responder has a suitable hand (by hand either more points or more controls than expected) he can make a try by bidding his controls in steps.  A few examples might help.  Suppose you hold x KQJTxx AQJx xx and bid out your shape to 3♥.  Relay asker makes a weak relay and you bid 3NT (since you do not hold 4 or more controls) and relay asker then bids 4♥.  With your good ♥ spots and good values, you can try 4NT showing 3 controls, but good values and relay asker can then either ask further, or sign-off in 5♥.  On the other hand, if relay responder bid 4♠ or 5♣ you wouldn’t try again because your hand does not fit as well.  Alternatively, suppose you help AKxxxx xx Axxx x and you bid to 3♥ to show shape and bid 3N over the weak relay, you might try 5♥ over a 4♠ bid to show 5 controls, but lack of points.  Note that over these ‘re-evaluations’ that a bid of 5M is always a sign-off as you are only trying for slam.

1.3.4 Rules for continuing after Relayer signs-off

Responder always has to judge whether he has sufficient "surprises" in his hand to warrant bidding on. The two primary factors to be taken into account are:

a) Relayer's bidding e.g. has he had an opportunity to use a weak relay? Has he initiated slam investigation?

b) The hidden extras - are they likely to be of sufficient surprise to warrant bidding on? eg. AJ1098 is clearly considerably better than AJxxx (along with extra points outside)

The most common situation is where relayer signs-off in 3NT having opened 1(. Responder may continue as follows:

	Positive 9+
	Semi-Positive 6-8
	Negative 0-5

	a) 4NT=15-16, 5(=17, 5♦=18 etc (all with 4+c - tends to be the balanced hands that use this route rather than show controls)

b) 4maj which could be 6+ cards = choosing to play there opposite potential void i.e. good suit

c) 4(=4c, 4♦=5c, 4♥(if available)=6c, 4(=7+c
	a) 4NT=11+, 1c 

b) 4maj = choosing to play there opposite potential void i.e. good suit

c) 4(=2c, 4♦=3c
	a) 4NT=7+, 0c

b) 4maj = choosing to play there opposite potential void i.e. good suit

c) 4(=1c, 4♦=2c


The continuation options for opener are:

· 5( ask over 4NT asks for exact HCP count - responder just goes up in steps of 1pt

· 5( over 4( control response (or 4♥ if ( could be natural) checks on exact controls

· NT bids, bids of responder's 5+card suits, and 6/7 level bids are to play

· Next suit up which is not any of the above is a relay asking responder to bid upwards where his unexpected strength lies. This can continue up to a 5( relay. Note that normal relays e.g. scanning, STOP once relayer has signed off.

1.4 Non 1( Opening Bids 

1♦=11-15pts, normally with 4+♦ (except 1435/4135), unbal (can be bal if partner is PH)

1♥/(

4+, Forcing.

1NT

Natural, NF, typically 5-9, no 4cM.

2(

Nat, Natural, Forcing.

2♦

Inverted, 4+♦.  2M = natural, 2N = 4+♣, longer ♦. 3♣ = longer ♣ than ♦.

2♥

Strong Jump Shift (Fit Jump if PH)

2(

Strong Jump Shift (Fit Jump if PH)

2NT

Good 10 to poor 12, balanced, may have poor 4 card major

3(

Strong Jump Shift (Fit Jump if PH)

3♦

Inverted, 4+♦, normal raise to 2♦.

3♥/(/4(
Preempts, opener can raise

3NT

Balanced, to play

4♦

5+♦, a distributional raise, invit, about 8-10pts

1.4.1.1 1♦-1M-1NT
10-15pts, denies 3 card support. We play 2-way nmf here.  So 2♣ puppets 2♦, then bids are invitational.  2♦ is ART GF.  Others are natural NF, except reversing which is GF.  2N is a puppet to 3♣ either to play or slammish. 3m is natural 55 GF (pure hand). 

1.4.1.2 1♦-1M – 2M – 2M+1

This is an artificial relay asking opener to describe his hand type.  The response are in steps: Step 1 – min, 3 card support; Step 2 – max, 3 card support; Step 3 – min 4 card support; Step 4 – max 4 card support.  Over the first step, a return to 3♦ or 3M is NF.  Over all other steps, we are in a GF and bidding is mainly natural (or cue).

1.4.1.3 Responder bids 1♥/(
Rebids after 1♦-1♥
1(
Natural, shows 4(, nf. If responder now bids 2( it is nf. 

1NT
See 1.7.1.1
2(
54 in the minors either way.  Now only 4th suit forces (to game).  2♦ and 2M are sign-offs and 2N and 3m are INV.

2♦
Natural, nf

2♥
3+♥, nf. 2♠ is ART asking.  2N is natural INV. 3♣ is natural, GF. 3♦ is INV.  3♥ sets hearts as trumps and demands cue-bids.  3♠ is a cue-bid and 3NT is a choice of games.
2(
Max, splinter, 4( 


2NT
Max with 6( and 3 bad ♥.

3(
Max, 55 minors

3♦
Max with 6♦ and 3 decent ♥
3♥
Max with 4♥ and no splinter, i.e. 2452

3(
Max, ( void, 4♥, i.e. 0463

3NT
Gambling (solid diamonds)

4(
Max, 65 minors and 2♥ (now 4N is ‘pick a minor’ and 4( RKCB, count both minor suit kings as aces – 2,3,4,5)

4♦
Max with 4♥ and solid diamonds.

4♥
Distributional raise, not max.

1.4.2 1♥=11-15pts 5+♥ (4+ if partner is a PH)

Responses: 

1(

Natural, Forcing

1NT

Natural, NF

2(

Any invitational or better hand with less than 4♥ (see below)

2♦

Limit raise or better in ♥ (see below)

2♥

5-9 with 3♥.  2♠ is a short-suit game try and 2N/3♣/3♦ are long suit game tries.

2(

Mini-splinter.  4+♥, shortness somewhere, less than limit. (2N asks then HML)

2NT

Strong Jump Shift with ♠ (Fit jump with ♠ if PH)

3(

Strong Jump Shift (Fit jump if PH)

3♦

Strong Jump Shift (Fit jump if PH)
3♥

4+♥ - preemptive 

3(

Limit splinter. (3N asks then HML)

3NT

Void spade limit splinter.

4(/4♦

Void limit splinters.



4♥

To Play

1.4.2.1 Bidding after 1♥-1♠

1NT

Natural NF.  Then 2-way nmf.

2♣/2♦/2♥
Natural.  Return to 2♥ or 2♠ is NF. 4th suit is GF. 2N is natural INV.

2♠

Simple raise. 2NT is now an ART ask (same as 1♦ - 1♠ - 2♠ - 2N).

2NT

3♠, 6♥ max.  3♣/3♦ natural.  3♥/3♠ NF.  3NT agrees spades. 4♣/4♦ agree hearts.

3♣/3♦/3♥
Natural, maxish. Distributional.

3♠

Agrees ♠ and is max.  4x are now cuebids.

3NT

Gambling (solid hearts)

1.4.2.2 Bidding after 1♥-2♣

2♦

ART either min with exactly 5♥ OR max with 6♥, 4 side suit OR max with 6 broken ♥
2♥

6♥ min

2♠

5♥, 4+ side suit, max. (2N asks then HML)

2NT

6♥, 5 side suit, max (3♣ asks then HML)

3♣/3♦

55 max

3♥

6 solid ♥, max

3♠

5♠, 6♥ min (with max use 2NT)

3NT

5532 max

4♣/4♦

5♥, 6m max

4♥

Distributional min

1.4.2.3 Bidding after 1♥-2♦
2♥

Min, then 2♠ is SSGT, 2NT/3♣/3♦ are LSGT

2♠

SSGT

2NT/3♣/3♦
LSGT

1.4.3 1(=11-15pts, 5+( (4+ if partner is a PH)

Responses similar to 1♥ above:

1NT

Natural, NF

2(

Any invitational or better hand with less than 4♠ (see below)

2(

5+♥ (see below)

2♥

Limit raise or better in ♠ (see below)

2♠

5-9 with 3♠.  2NT is a short-suit game try and 3♣/3♦/3♥ are long suit game tries.

2NT

Mini-splinter.  4+♠, shortness somewhere, less than limit. (3♣ asks then HML)

3(

Strong Jump Shift (Fit Jump if PH)

3♦

Strong Jump Shift (Fit Jump if PH)
3♥

Strong Jump Shift (Fit Jump if PH)

3♠

4+♠ - preemptive

3NT

Limit splinter. (4♣ asks then HML)

4(/4(/4♥
Void limit splinters.



4♠

To Play

1.4.3.1 Bidding after 1♠-2♣

2♦

ART either min with exactly 5♠ OR max with 6♠, 4 side suit OR max with 6 broken ♠

2♥

4+♥, min

2♠

6♠, min

2NT

5♥, 4+ side suit, max. (3♣ asks then HML)

3♣/3♦

55 max

3♥

5♠, 5♥ max

3♠

6 solid spades max

3NT

5532 max

4♣/4♦

5♠, 6m max

4♥

65 majors distributional min

4♠

Distributional min

1.4.3.2 Bidding after 1(-2♦
2♥

Usually 2-3♥
2♠

0-1♥, good spades

2NT

6♠, 3♥ max

3♣/3♦

Natural 55 max

3♥

4+♥, min

3♠

Very good spades, no ♥ interest

3NT

Gambling (solid spades)

4♣/4♦

Splinter agreeing hearts

4♥

4+♥, max

1.4.3.3 Bidding after 1(-2♥
2♠

Min, then 2NT is SSGT, 3♣/3♦/3♥ are LSGT

2NT

SSGT

3♣/3♦/3♥
LSGT

1.4.4 1NT

These principles of these responses operate over all 1NT bids, including overcalls. We also play them after 1♣ - 1NT, 1♣ - 1♦ - 1NT, 1♣ - 1♦ - 1♥ - 1♠ - 1NT, 1♣ - (1Y) – P – (P) – 1NT, etc.

Responses:
2(
Stayman. With Smolen.  (see below) 

2♦/♥
Transfers with transfer extensions. (see below)

2(
Puppet to 2NT.  Either minor suit slam try OR both minors GF.

2NT
Puppet to 3♣. Either sign-off in a minor OR 3-suited short major GF.

3(/♦
Invitational with 6+card suit.

3♥
3=1=(45) GF.

3(
1=3=(45) GF.

3NT
To Play

4(/♦
South African Texas Transfer (openers bids are strictly positional)

4♥/♠
To Play

Stayman Sequences  

1NT-2(-2♦-

2♥
Both majors, NF (garbage)

2♠
Invitational 5♠

2NT
Invitational (non-promissory)

3♣/3♦
Natural, GF (4M inferred)

3♥/3♠
Smolen

3NT
To Play

4♣/4♦
Extended South African Texas (4♠,6♥ and 6♠,4♥ respectively)

1N-2(-2♥
2♠
Invitational 5♠

2NT
Invitational (non-promissory)

3♣/3♦
Natural, GF (4♠ inferred)

3♥
Invitational

3♠
Slam try, shortness somewhere (3N asks then HML)

3NT
To play (4♠ inferred)

4♣
RKCB for ♥
4♦
4♥, balanced slam try

4♥
To Play

4NT
Quantitative (4♠ inferred)

1NT-2(-2♠-

2NT
Invitational (non-promissory)

3♣/3♦
Natural, GF (4♥ inferred)

3♥
Slam try, shortness somewhere (3♠ asks then HML)

3♠
Invitational

3NT
To Play (4♥ inferred)

4♣
RKCB for ♠

4♦
4♠, balanced slam try

4♠
To Play

4NT
Quantitative (4♥ inferred)

Transfers

1NT-2♦-

2♥

Usual.  Can have 4♥ if min.

2(

4♥, useless doubletone somewhere (think SSGT)

2NT

4♥, good ♠ suit as well.

3♣/3♦

4♥, good suit

3♥

4♥, scattered values

Transfer breaks to spades are similar. After a transfer break, bids are cue-bids, except 3♦ is a re-transfer (with 3♥ being a ♦ cue bid!).  One exception is 1NT - 2♦ - 3♦ - ?  Then 3♥ is to play and others are cuebids.

1NT-2♦-2♥-

2(

5♥, Invitational.  2NT is to play. 3♣/3♦ show 6+ suits and are NF. 3♥ is to play. 3♠ is choice of games.

2NT

4+♣. Then 3♣ shows 4+♣ and responder patterns out. Other bids are natural.

3(

4+♦. Then 3♦ shows 4+♦ and responder patterns out. Other bids are natural.

3♦

Single-suited slam try in ♥.  3♥ shows interest (but denies ♠ cuebid). Others are cuebids.

3(

6♥ INV

3(

55 Majors GF.

3NT

Choice of games.
4(/♦

Self splinters

4♥

To play (very mild slam try) 

1NT-2♥-2♠-

2NT

4+♣. Then 3♣ shows 4+♣ and responder patterns out. Other bids are natural.

3(

4+♦. Then 3♦ shows 4+♦ and responder patterns out. Other bids are natural.

3♦

55 majors, INV.  (Note with 5♠, 4♥ GF one would smolen)

3♥

Single-suited slam try in ♠.  3♠ shows interest. Others are cuebids.

3♠

6♠ INV

3NT

Choice of games.
4(/♦/♥

Self splinters

4♠

To play (very mild slam try) 

Intervention:

1NT-2(-(Bid)-
Pass shows a desire to play in 2♣X or XX.  (Hxxx or better) XX shows a strong interest to play in 2♣XX (HHxx or Hxxxx or better). Then 2♦ by responder is garbage stayman.  2♥/2♠ are natural and forcing (only showing 4 cards). Others are natural. 2♦ by opener shows no 4cM and no suitable club holding.

1NT-(2Y) - ?

Double is penalty.  2Z is natural NF. 2N is a puppet to 3♣, then bids are competitive. 3♣/3♦/3♥ etc are transfers.  Puppet then cue-bid = 4 of the other major (or both majors) and no stopper. Direct cue = 4 of the other major (or both majors and a stopper.  3♠ shows clubs and is GF. Puppet then 3NT = no stopper. Direct 3NT = stopper.  Transfer to opponents suit = 55 minors GF.

1NT – (2♣) - ?
Double = stayman. Other bids natural

1NT – (3Y) - ?
Generally transfers whenever possible. So 1NT – (3♣) - ? 3♦ is 5+♥ (INV+), 3♥ is 5+♠ (INV+), and 3♠ is 5+♦ (GF). 1NT – (3♦) - ? 3♥ is 5+♠ (INV+), 3♠ is 5+♥, GF. Otherwise, double is takeout.

1NT – (Dbl) - ?
No matter what the double, Pass is neutral (opener may pull to 5+ minor). XX is for business (then takeout doubles on both sides). Others natural, but may be the start of a run-out (XX is rescue). 

1NT – (P) – P – (X) - ?
XX shows 4+ clubs, else opener passes. 2m bids show good suit (possible psych?)
2(= 11-15pts with 6(
May have side 4 card suit. Occasionally 4315 with good ( and poor ( but treat as 6(.

Responses:

2♦

Relay, invitational or better

2♥/2(/3♦
Invitational, 5+card suit (6+♦), nf

2NT

55 in 2 suits other than clubs, GF

3(

Mild invitation, now 3( is stop-asking, 3(/( show 4-6, very max

3♥/(

Solid or semi-solid suits, FG

3NT/4(/5(
To play.

After intervention:

2(-(X)-
As above except:


XX
Good hand with short (, (even if passed before), sets up forcing pass situation


2NT
Genuine invitational raise in (

3(
Preemptive


3♥/(
Fit-Jumps

2(-(2suit)-
X is takeout, also used on all good (unbalanced) hands



Simple or jump change of suit is nat, nf



2NT is natural



( bids are sound raises



Cue-bids are DABs, FG



Note this style also operates after 1(-1(-2(/(/(-(2suit intervention) or equivalent.

2(-(3suit)-
X=takeout 



New suits are forcing



4( is invitational

2(-2♦®-

2♥/2(

4 cards,  relays then ask for shortage (HEL),then pattern (21/30/20), then controls etc.

2NT
Balanced, 6322 or 7222. Then 3( invites nf and if opener is max shows stops or 3NT with both maj; 3♦=FG asking for stops, -3NT=both maj, -4(=no maj, then lowest minor is ® controls (3♦-3♥-3( asks for ♦ stop); 3♥/(=nat, FG, looking for 5-3 fit, ends relays

3(

Minimum unbalanced. 3♦ now is ®, asking for HML singleton, then HML void.

3♦

(AKQxxx , no void. 3♥® asks: 3(=High singleton, 3NT=balanced, 4(=Middle sing,



4♦=Low sing, with run on to controls outside ( only if max. Next ® asks for controls



outside (, starting at 0. Next ® is a scan, starting with (J.

3♥/3(/3NT
Max stopper showing in majors.

4(/4♦/4♥
Max with HML voids (also guarantees 7+()

2. 2 level Opening Bids 

2.1 2♦=11-15 3 suiter 4315/3415/4414/4405

Responses:

2♥/2♠/3♣

To play

3♦


Solid 6♦, little else. Invites opener to bid 3N with max and 1♦
3♥/3♠


5 card suit, invitational, nf

2NT Enquiry: (only game forcing opposite maximum)

3♣


Any 4441 OR 4405 min

     -3♦


Range ask


-3♥

4441 min


-3♠

4441 max


-3N

4405 min

3♦


4315, 3♥ now is range ask (3♠=min, 3N=max)

3♥


3415 Min

3♠


3415 Max

3N


4405 Max

After any of these responses, 4NT is RKCB for the 4 card suit if 4315 or 3415. If 4414, then 4NT is straight blackwood. If 4405, then 4NT is RKCB for clubs.
2.2 2♥/♠=5-9pts Weak Twos

Opposite unpassed partner – always 6 card suit (unless concentrated and NV, say KQJTx xx xxxx xx)

Opposite passed partner – can be 5 card suit

Raises Preemptive

Change of suit nf, encouraging

4♣
RKCB 0/0/1/1/2

2NT Enquiry: (game forcing opposite a maximum)

Blue Club responses (LSPA)

3♣
Lousy (bad hand, bad suit)

3♦
Suit (bad hand, good suit)

3♥
Points (good hand, bad suit)

3♠
All
(good hand, good suit)

3NT
AKQxxx

2NT= 55 minors Weak (5-9) or GF (17+)

3♣/3♦
NF

3♥
Puppet to 3♠, then bids are slam/game tries

3♠
Puppet to 3NT, then bids are keycard/strong slam tries

3NT
To Play

4♣/4♦
Preemptive

4♥/4♠
To Play

4NT
Both minors, preemptive

5♣/5♦
To Play

2.3 Interference over 1(
Intervention Ground Rules

· The following stop relays: 

a) Intervention of 1NT+ before a game force has been established; 

b) Any intervention that puts us on the 5-up track;

c) A bid of 3NT+ in front of relayer;

d) A bid of 2NT+ in front of relayer if either it is a jump OR if no suit has yet been bid by us

· If responder shows 0-3/4/5pts and there is intervention below 2(, 2( by opener is ( unless we are are on standard track after 1♣-(X)-P. The 3 possible continuations are (P)-1♦, (1♦)-P, (1♥)-P. In the middle of these no meaning is assigned to 1♣-(X)-P-(1♦), P-(P)-X, so X does not exist here.

· Double is almost always takeout and shows a desire to relay (if possible). This is true for both sides.

· If responder is in the protective position facing a non-forcing pass, Dble is Takeout and NT bids are natural

· All relays (except 2( GF) must begin on either a positive track at 1♥, or a semi-positive track at 1NT

· Breaks are still natural and bidding continues naturally thereafter.

· Once we have made a penalty pass or doubled for penalties further doubles are for penalty. Also Pass is Forcing if made by an unlimited hand, but non-forcing if made by a limited hand. 

2.3.1 Intervention immediately over 1(
After (1♦/♥/♠)- X=0-5 and ends relays (unless opener next bids 2( and then on transfer track); P=6-8. Also:

After X:- 1♦=0-3 (2( now (); P=4-5 & XX=6-8 both with 1♦(; 1♥ and above normal positives. If 3rd hand intervenes at the 1-level, double is still takeout looking for relay.

After 1♦:- 1♥ and above are normal positives; after a semi-positive pass a reopening double by opener is a relay putting responder on a positive track with semi-positive values.

After 1♥:- 1( is 0-5 with 4+( (so X denies 4(); 1NT+ are 2-up positives; after a semi-positive pass opener can either X asking for a pass with 4+♥ or a positive track, else bid 1( as a relay on a 2-up track.

After 1(:- 1NT+ is a normal 2-up positive; pass allows opener to X for relay on 2-up semi-positive.

After [1NT-2(]:- No relays (except 1(-1NT-P-P-2(); P=normally 0-4, but can be 5+ with values in their known suit which will pass a re-opening double; X=5-7 T/O (or poor 8) after which 2NT is scrambling over 2♥/( or balanced 16-18 over 2(/♦ (then cue=Baron and suit =5cds nf); suits=5+cards 8-13; j suits=6+cds, nf, 5-7; 2NT=8-13 no 5-card suit, may not have stop; 3NT=8-11 with stop(s); cue=14+ (except over Panama when it is nat, 8+) and if they have shown a specific 2-suiter the first cue shows 55 5-9pts in other 2 suits; the second cue is 14+.

After [2NT upwards]:- P=0-7; X and suits are 8+ FG.

Intervention after 1(-P-1♦-

After X:- P=( 19+, allowing responder to XX with 0-5 and use positive track with semi-pos values; others show 16-18

After 1♥:-Dbl=( 19+, allowing responder to bid 1( with 0-5 and 4+(, X with 0-5 and <4(, and use 2-up track with 6-8; others show 16-18 e.g. X=T/O (given balance of points not guaranteed)

After 1(:- Dbl=( 19+, allowing responder to X with 0-5 and use 2-up track with 6-8; others=16-18.

After [1NT-4♠]:- no relays, P is nf, X=T/O, T-Lebensohl 2NT applies (by opener and responder). Cue-bids show 5-5, NT bids are natural. Applies in all situations where responder can have fewer than 6pts.

After [4NT+]:- P is forcing, Dbl suggests a balanced hand. 

If both opponents bid at the 1 level, opener can still ( with a dbl when responder has shown some values and we can still get on one of the tracks eg. 1(-(X)-P(4-5)-(1NT)-Dbl = (, FG, responder now bids on the 3-up track (as long as there are no more intervening bids).

2.3.2 Intervention after Relays have begun - P0D1 & P0R1

Intervention immediately prior to relayer with a bid of:

X:

XX=( (responder now bids up in cheapest steps); Pass forces XX unless responder has an unsuitable hand.

Up to 3(:
Double=(; Pass forces X; Others natural and forcing, breaking relay

Over 3(:
Relays broken; Pass=Forcing; X=Takeout; Others natural

Intervention immediately after the relayer with a bid of:

Any skip:
Relay broken, bid as naturally as possible, X=Takeout, P=Forcing

Other:

P0R1 applies over X; P0D1 applies after suit or NT

2.4 Interference over 1 of a Suit Openings

Opponents Double

If we open 1♦, then we play transfers starting with XX up to 2♣ showing a good ♦ raise and 2♦ showing a bad ♦ raise.  2♥ and 2♠ are preemptive.  2NT shows both minors.

If we open 1♥ or 1♠ we play transfers starting with 1NT up to the good raise. 2M is a bad raise and 2M+1 are normal systems.  Strong Jump shifts become fit jumps.  XX shows a good hand and creates a forcing pass up to 2M.

Opponents Overcall

We play standard negative doubles and bids are natural, forcing one round.  Jump shifts are fitted. Cue bid shows a good raise without a stop.  2NT shows a good raise with a stop and offers 3NT as an alternative contract.

2.5 Defensive Conventions

2.5.1 Opponents Open 1NT

Dbl
Penalty (Weak NT) OR Clubs and a Major (Strong NT) OR Strong Hand

2♣
Both Majors

2♦
Diamonds and a Major

2♥/2♠
Natural

2NT
Minors

3Y
Natural

(Strong NT) – Dbl – (P) - ?

2♣
To Play

2♦
Bid your major

2♥
Natural NF

(Weak NT) – Dbl – (Pass/XX/2m) - ?

Pass
Shows some values and willingness to penalize. Doubles are takeout from both sides.

Bid
Weak NF

(NT) - 2♣ - (P) - ?

2♦
Bid your better major

2♥/2♠
Preference

(NT) - 2♣ - (Dbl) - ?

XX
Bid your better major

Pass
2♣X is the best place to play

2♦
Natural

2♥/2♠
Preference

(NT) - 2♦ - (P) - ?

2♥
Pass/Correct

2♠
Natural (overcaller can raise if appropriate)

2NT
Asks (responses are 3♣=4♥, 3♦=4♠, 3♥=5♥, 3♠=5♠)
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